
The authors thank IMPRS-IS for supporting Leonard Salewski. This work was partially funded by the Max Planck Society, the BMBF Tübingen AI Center (FKZ: 01IS18039A), DFG (EXC number 2064/1 – Project number 390727645), ERC (853489-DEXIM), and DFG-CRC 1233 (Project number 276693517).

predicts candidates

Is this a pizza?
VQA model

Q/A Prompted LLM

Attention
Rollout

VQA model
guides generation

with ITM
It is a cheese 
pizza.

●

●

●

We convert a VL model’s internal attention into natural language.
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ToDo
● Sophia Proof Reading
● Testprint
● Plotting with Thomas Settings

Later
● Code on Github
● Arxiv
● Native Tables
● IMPRS-IS Application website
● Digital release of the poster on the website

What kind of place is this? 
The answer is train station 
because it's the only place the 
train goes.

What kind of vehicle is in the 
front of the photo? The 
answer is truck because it's a 
pickup.

What is he doing? The 
answer is sitting because he 
is tired.

Does the bus like the kids? 
The answer is yes because 
the bus is a school bus.

Can this animal be ridden? 
The answer is yes because it 
is already a horse.

What is this man doing? The 
answer is playing tennis 
because he is a tennis player.

What kind of place is this? 
The answer is train station 
because it's the only place the 
train goes.

What kind of vehicle is in the 
front of the photo? The 
answer is truck because it's a 
pickup.

What is he doing? The 
answer is sitting because he 
is tired.

Does the bus like the kids? 
The answer is yes because 
the bus is a school bus.

Can this animal be ridden? 
The answer is yes because it 
is already a horse.

What is this man doing? The 
answer is playing tennis 
because he is a tennis player.

What kind of place is this? 
The answer is train station 
because it's the only place the 
train goes.

What kind of vehicle is in the 
front of the photo? The 
answer is truck because it's a 
pickup.

What is he doing? The 
answer is sitting because he 
is tired.

Does the bus like the kids? 
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The answer is yes because it 
is already a horse.

What is this man doing? The 
answer is playing tennis 
because he is a tennis player.
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